Chemical Equations Practice: name: %L et TTOR)S

1) Write the 3 chemical equations (balanced) involved with the formation of Acid rain from the emission of
Sulfur by industries.

Stepl: Sulfur combines with O, in the atmosphere to produce Sulfur dioxide
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Step2: Sulfur dioxide combines with more O, in the atmosphere to produce Sulfur trioxide

Step3: Sulfur trioxide combines with water vapor in the atmosphere to produce Sulfuric Acid H,S0,
(which falls as acid rain)
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2) Complete the following Photosynthesis equation. Don’t forget to balance |

When water combines with carbon dioxide and energy from the sun, a plant will produce sugar
(CeH1206) as well as oxygen gas which is released into the environment.
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3) Complete the following chemical equations involving the burning of fuels:
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a) Benzene: .,:( CeHe + }5 0, = /Q \(’ % C //; C

b) Hexane: \ ;\ CeHis + ;ﬁ o, = /G%,C + {[ Z“f I, o



4) Complete the following reactions:

(Don’t forget to always balance) 11 /
S Y = Y
What types of reactions are a) b) and c) : / VP {Ta [1 zet 17N >,

-~

a) Q\HBr + Ba(OH); > .’1’7}75 )\]FL + ”:j {j’; ()

™ B
S
GGG%
(5 al 0

e % 9\ :
B)AHNOs + caloH, > CaVo), + AU 0O
:L\*Z /\/IQ?)_
Ca <’UQ$3 2
(salt)

¢) oL HPO,  + ) Ca(OH);
CL‘\+Z (O(. ).Lr“S
Cq 3 (PCZ,BL’
(9'«'/*)

77 . 5
5) What type of reaction is the following: _/ fas VAL /Tf' ?it"' /{‘Lg )L.vc,?'a'""}
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2 KaPO, E‘E} + 3 MQC'Z (aq) > MQa{POdz‘% + 6 KCI (aq)

6) Complete the following and balance:

Mgy + 2HCg > _[laCl, + _H,
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